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: - - L FE SLFR R A N
" " LA A CEiE 2T ALl T) gl
mo% A (pg-TEQ/m)  [*1] 0.016 0. 040 0.6
TAFXRT U | BE B 15 (ng-TEQ/niN) 0. 00018 0. 00000078 5 |
B KO 2% (ng-TEQ/mN) 0. 00044 0. 0011
Mm% N (ppm) 0. 002 0.003 —
] BE HI 4 1% (miN/h) <0. 03 0.10
1.03 (KfE=1.17)
BE HI 4F 2% (miN/h) 0.09 0. 09
il % W (ppm) 0.00011 0. 00012 —
oAb kK # Be H O 15 (mg/niN) <7 <5 700
Be Al 47 2% (mg/miN) <6 <4
mo% W (mg/m”) 0.015 0. 037 -
R A 7 — 15 (g/mN) <0. 002 <0. 001
R A 7 — 2% (g/mN) <0. 002 <0. 002
PN N - 0.05 0.05
= AT AR 15 (g/mN) <0. 001 <0. 001 o /4
- s A MK 275 (¢/niN) <0. 001 <0. 001 (&%)
v =Y fb-vay 18 (g/miN) <0. 002 <0. 002
Sl 0. 04 0. 04
— 1=y 2 b-vay 2% (g/mN) <0. 002 <0. 002
B A 1% (g/miN) 0. 048 (12H) 0.009 (2A) 0.011
0.15 0.05
B A 2% (g/mN) 0. 049 (12H) 0.006 (2H) 0.006
il % M (ppm) 0. 029 0. 067 —
R A4 7 — 15 (ppm) 22 38
R A4 7 — 25 (ppm) 24 34
- 150 60
IR AR, 15 (ppm) (TH) 22 (9A) 21 - [*2]
ERIRW) iRk SRS 2% (ppm) (TH) 28 (9H) 29 - [x2]
1=y Ab-vay 1% (ppm) 77 170
600 200
1=y Ab-vay 2% (ppm) 81 120
B H O 185 (ppm) <97 <56
250 200
B H O 2% (ppm) <70 63
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Zn2 (BER)
i WESE | R | TR | wEsE | R | TR | wEms | R | TR | wess | Rem | R el B e
8 ! ' e : s ’ o s : ’ B i I
T v E =T (ppm) <0.1 <0.1 <0.1 <0.1 <0.1 <0.1 <0.1 <0.1 1 1
AF IV AT T2 (ppm) <0. 0001 <0. 0001 <0.0001 <0. 0001 <0. 0001 <0. 0001 <0. 0001 <0. 0001 0. 002 0. 002
it b K H (ppm) <0. 0005 <0. 0005 <0. 0005 <0. 0005 <0. 0005 <0. 0005 <0. 0005 <0. 0005 0.02 0.02
5 i # e
it b A F v (ppm) e <0. 0001 <0. 0001 <0. 0001 <0. 0001 <0. 0001 <0. 0001 <0. 0001 <0. 0001 0.01 0.01 (2;/2:)
fﬁU mu o mu
e A Fov (ppm) <0. 0003 <0. 0003 <0. 0003 <0. 0003 <0. 0003 <0. 0003 <0. 0003 <0. 0003 0. 009 0. 009
FUAFAT I (ppm) <0. 0001 <0. 0001 <0. 0001 <0. 0001 <0. 0001 <0. 0001 <0. 0001 <0. 0001 0.005 0. 005
TERTATER  (ppm) <0. 002 <0. 002 <0. 002 <0.002 <0.002 <0. 002 <0. 002 <0.002 0. 05 0. 05
i m i It
B b,
. BT R I <10 <10 1l <10 <10 A <10 <10 i <10 <10 15 10
(TH) 20
BE Al AR 5 2
W o et (8A) 16 T (2A) 16
B (9A) 17
(7A) <12
Al UL
= = g M E o
R | e GA) S @1 <z oy
53,41
[*1] 9H) <12 30 95
(7H) <12
st ®) @1 <
Tl 5. w 8 <12 w 2 12
Hoon B T
(9A) <12
(TH) 15
B
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Zo 3 (B&E - IKH)

FEHSREEET=F U VR (Erk224EE)

S i iy - S e - e | i - S e - Rn Ll B SLBR B R S
H H MESGAT | T | ESET | R T | WES T | B T | ESET | R TR CHIELLT) CHlELLF) T [E%
[fj] 59 60 52 57 58 60 63 63
% "
F%';“? 60 61 52 57 58 58 63 65 g, &M, ¥ W], B, &4
¥ Hh 4 - . I 75 50 o ]/t
[%1] 56 58 53 53 54 55 59 60 70 50
A
[*3]
ﬁ?’:‘? 56 58 53 54 54 54 56 58
IR i FE*SE‘;J 41 40 31 31 36 36 44 44
) H R [} il B9 B 75 BLH 65 2 [\l /4
5 N 13l il 1 il & 70 &[H 55 (2 - %)
(dB) 5 ﬁz”? 35 36 30 <30 32 32 34 34

*1 B 6~8KF, B 5 8~198F, & 5 19~22[F, W ; 2205~ 6HF

*2 AR ; T~20/F, K[ ; 20~THF
*3 BRE ZME - /o8 L7 asigRs () BRESRHENIZERT) 12 X 2 3 o 22
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D4 (OKE)

BEEHEERET = U IR (224EF)

15 H 41 54 61 7H 8H 9H 108 | 118 | 1278 1A 28 3A | mmissre |ompe | wem
Pt i = T <f B
&g%”“mmg*%] 2.1 3.6 5.9 3.9 3.9 7.2 3.3 1.6 2.1 2.3 2.7 2.4 25 10
U2 N o BT
i | S [l i) a1 <1 a1 a1 a a1 a1 a a1 <1 <1 <1 30 4
(mg/0) fif
M St ansie 0.5 | <0.5 | <0.5 | <0.5| <0.5| <0.5| <0.5| <0.5| <0.5| <0.5| <0.5 | <0.5 10 1 A
e —
TN [RZE#E] 1
| ) 1.0 1.4 0.8 3.4 0.7 4.6 2.6 1.5 3.5 3.2 2.8 7.0 20 10
_ WA ] L [E]
f T&g%;‘”/%] 0.03 | 0.03 | 0.03 | 006 | 003 | o012 |002 | o002 | o003 | o005 | o005 | o003 3 1
pH [KFEA A ] 7.8 7.6 7.5 7.8 7.8 7.7 7.7 7.6 7.5 7.5 7.4 7.2 | 5.0~9.0 | 6.0~8.5
x o o | 2.9 2.6 2.9 3.3 3.7 4.9 4.4 2.7 1.9 1.9 2.1 2.1
[{L22hom:
wEski] | e | 17 1.2 0.7 1.9 1.5 3.1 2.9 1.2 0.0 0.0 1.3 1.4 42 -
@ | (ke/m)
" gk | 41 3.8 4.0 6.6 5.5 7.7 5.8 5.8 2.6 2.9 3.0 2.7
. v o1 | 18 0.9 0.9 0.6 0.7 2.9 4.3 2.2 4.4 4.8 5.0 4.2 i
- T-N "
N 3
U] | o | 0.9 0.0 0.1 0.1 0.0 0.2 1.5 0.0 0.0 0.0 1.2 1.4 33.6 - \
g | /P H
’ gl | 5.9 2.3 1.7 1.6 3.9 7.5 | 13.2 | 6.1 1.6 | 12.6 | 9.9 8.0 -
" % # | 002 | 001 | 002 | 004 | o003 | 006 |o002 |00 |o005 |03 | o003 | o002
TP
eV T | m | oo | 000 | 000 | 0,00 | 0.00 | 0.00 | 0,00 | 0.00 | 0.00 | 0.00 | 0.00 | 0.01 5. 04 -
(ke/H)
g | 005 | 004 | 022 | 043 | 014 | 013 005 | 010 071 | 43 | o007 | 005




